iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION

@-I-Iaus

Rev A9, Page 1/15

ORDERING INFORMATION

Type
Evaluation Board

Evaluation Board

Order Designation
iC-HG EVAL HG2D

iC-HG EVAL HG2D-HSK

Description and Options
Host Adapter for HG2M type modules

Host Adapter for HG2M type modules
with heat sink assembly kit

BOARD HG2D

(size 113 mm x 100 mm)

TERMINAL DESCRIPTION

oo FHST

JP6  LUDS  JUMPER- L Pz
J1 EDDE SETTINGS ;DDE J2
S W W SN T
1 voo[oi (IR eioluoD , |
CHANEmmpm OFF [OFF P HANEL
1 1[o]o]o]o OFF| ON [o]e]o]o X 2
0,00 0 ON| ON ON [OFF 0,0/0. 0
0,0|0 0 JP1 JP2 JP1 JP2 0,00 0
cr2 |omoom IP3 IP4E 51P3 JP4 0:0]6'0
o'olo°o| NV o o <00 [6°0|6"0
G0 jpr e TP T o o &% &IP3 It
R R4 3 o —— 1516
[o7o]ENt EN2 ON
PN o (@] Q PN
cI1 o 51
G0 O] g Ol 9 @ cI
L= L= o
o o £25)
o < o OFF
GND g 2 R1 O FAST
o0 5 o R2 6 o|sLon HV0S
o] L) |ojs R3 © 0[SLOW |
c7 cs
@) @)

JPS

TEMP NSTBY
oo
@RROR JDE
g5
ﬂoooooooooooooooo
NER 000000DDO0DO0OOO0O 00000
oigiiie} oooooooooooooooo LDA
0000000000000 O0O
00000000000 0000
Btaus ©00000000000000 o

EVAR

o || ooooco00000000000 [T
o
HG2D g J4 Z| | ©000000000000000 | |7 j3
000000000000000 | |5
000000000000 000 HH
=

GND

Figure 1: Component side

J1/J2 Interface to Pulse/Oscillator modules
(e.g. iC149/iC213)

Cl2 Control Voltage for Channel 2

CH Control Voltage for Channel 1

GND Ground

TEMP Chip Temperature (if applicable)

NER Error Output (low active)

VDD Power Supply iC”

GND Ground

VLDA Power Supply laser diode”

GND Ground

NSTBY Standby input (if applicable)

J5 SPI interace (if applicable)

“Consult the relevant iC data sheet or
module manual for a valid range.

Copyright © 2021 iC-Haus

http://www.ichaus.com


http://www.ichaus.com

iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION

@-I-Iaus

Rev A9, Page 2/15

RELATED DOCUMENTS

* iC-HG Data Sheet

— http://www.ichaus.de/iC-HG

* iC-HG2M High Speed Module

— http://www.ichaus.de/iC-HG

* iC149 Programmable Pulse Generator

— http://www.ichaus.de/iC149

* iC-HG Programmable Oscillator

— http://www.ichaus.de/iC213

SCHEMATIC

VLDA,
1‘ 2I
J3

1
HG2D _MODULE.

28
LDAON 27
3337 52 VLDA SelLoA
2
LDAOFF s - o
NG ¢ ot T0uF TUF == T00nF
- " I I I

vDD@_l
A )

1 c2
10uF ATuF

I

1
RS 14
lc@ lc4 a1 15
TUF == 100nF 12
CION " 132
st
CIOFF on
16

JUMPER SETTINGS )
P11 P2 1
LvPDs—MOSE JIovED V)1 6 JI-CND J1-LVDS_P
¢ .
J1-vsD1 2@ SylCNIL g RT
-1 IN N 7 3 iW*GNDZ | 2 T
-2
J1-CODE SJi-eNpz | vODe—L
-3 | oFf | oFF T
Ji-NC2 J1-cnD4 J1-TTL
A hﬂ N3 S1-onns 21
I v e > e J1-LVDS N 2F2
S ey T T
voDe—{ 1 3 .
- 1.8k 8 451 ¢ 51 ENTN
) o503
3 UPA 1
TTL-MODE vSD V2 JPT 52-GND
PN £ .
iervsm zz SJ2-ohDty
—— T 3 ~J2-eNp2 |
>42-CODE SJ2-GND3 |
Su2-Ne2 J2-GND4
oF | o Bnea :iz—GNDS
on [ oFF 215 |
> >J-CnDs

Figure 2: Circuit diagram HG2D

CI1

GND
8

EN1P

ENTN

SYNCP|

SYNCN

NSTBY]
NCS|
SCLK]
MOST
MISO|

NER]

ELVDS

TEMP|

5 STNC-1
1 * SYNC-2
0 gmgustRY FE 5-101
9 J5-NCS
8
8 J5-SCLK
T
12 J5-M0S]
1 J5-M1S0

E)
J5-GND

JS—IOS) 2
= J5-GND1

J5-103 0]
5

5
MODE SWITCH
-1 [Lvos FasT
VDS SLOW
TIL SLOW
TIL FAST D
RI
- 3 20k
5 5
1o—
23 ELVDS doocl R2
6505 2 20k
TEHP foqal
5 viEMP o
R3
3732k

dra_hg2dxB_spec_schen



http://www.ichaus.de/iC-HG
http://www.ichaus.de/iC-HG
http://www.ichaus.de/iC149
http://www.ichaus.de/iC213

iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION @'HOUS

Rev A9, Page 3/15

:Lz s2 pILDA
2 LDAOFF Lg _LCS _Lm x2
CNIg=g | TAUF uF 180nF (CHGIM
R 28
- " I I I %g
oA
vDuﬁ—l—>vnn
J4 2sfvon
7
L L. s o T
5] c2 c3 [ ciz ‘ *—
ELYY e W 100F ==4TuF ==1TuF ==108nF . & 1lcz
st ‘F
c1l
1 I I I I CIOFF Y 1glert
L =
VoD = 17)6nD D VoD
LOK1
4 di-Lu0s P 1 78 -
3,04 L
R —3e2
J1-ysp V J1 _JPE % RT 5 32% o ‘ L'
& Z - e © ENtP 22 EN1
J1-v5D1 o oyL-CNDL_ e -l£94 ?mT i e g AGNDT
! 3 Shone_| Vone—L— 5 l
1 EN1-1
}gfcung :;ﬂm R -
Sdfwez J1-0ND4 iw—wns . L2, ENT-2 e
JI-NC3 J1-GNDS5 = L L
g B T e =T J
Sif-nea Sy-a08 vone— DG I 21fentn ENz {>_,'
T 8oaol )5l ENIN AGND2
- 055 o3
Voo
; J2-LDs P 13 . LOK3
9 30,04
Jo-vsD vz JPT od2CND RID [T gzqg
= 25
3 J2-GND1 7 g | RIS ENZP 20enze EN3 T
2 Ry Lo ST g AGND3
7 3 Sdesgnoe | VDDe—L3 5
4 ENe-1
S42-Co0E > g2-0ns ST Love
S J2-Nc2 20D N ™ EN2-2 14
J2-LVDSN 2N
~J2-Ne3 J2-GND5 o eg L
Bnea J2-GNDB R DESGELIS 19ENeN ENA -
i 12 Vooe L7 3 - [} achp4
15k L 85407 {57 EN2N 4
- 10gc 9
Loks
JUNPER SETTINGS .=
JP1 JP2 UP3 P4
LVDS-MODE TTL-MODE o
PN PN ':._—r_\
g n AGNDS
Sl w [
-2 I o Lovs
-3 | oFF | oFF B I_' o
-4 orr | on
R1
s[ov [on N | oFF 3,32k ENG {D_‘{'ﬂ_—r_& jiz
P55 AGNDS
DNe] v
Jps R2 2 ELVDS 23feLvos ELVDS [LVDS Wt
MODE SWITCH 4,22k 56305 JTT0
DN NER NER fp4 NER | g NeR
-1 [LVOS FAST  — PUR & TEMP >c
-2 |Lvos sLow 2258 o MONITOR
-3 |TTL sLou S8 GND
-4 [TTL FasT 4leNp_2 J l
3
2
1lpoND
l dra_hg2dx0_hgin_spec_schen

Figure 3: Circuit diagram with iC-HG module



iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION @'HOUS

Rev A9, Page 4/15

VLA
23 LoaoN
T
vioa
3 s2
o3P — LDAOFF
cs 3 o1
LY — ) 1 100 LuF == Toon
R4
4 100
2
oD,
34 oD
T
o RS
cL c2 [=] c4 47
EY e WY 10uF 4TuF 1F 100nF cron X1
= GC-HNIM_HN
FC-HN1M
L VDD VLDA28
27
e 26
> T
ver VDD
ver 4C-HN/HN3 ok
1
P6 J1-GND C1 ‘ ‘I
J1-vsp V31 T |
5 7 —
21-6ND1 GND
;wsm P 23 = T /7= =
7 3 Sai-enp2 | l En
21-cone e £
13 5 ?
J1-NC2 1-GND4
S EN SUB JGND 4
J1-NC3 J1-GNDS P2 JUMPER SETTINGS GND43
e B
e % -wos 2 e T >
S31-Nea J1-6ND6 | 459 LVDS-MODE o
16 ST RS . oo
vooe—{ o3
1.5k 49'48 IN IN
10
oS -2
-3 | orr | o
-4
s | ov | on
VoD
N = Voo
3x1 SYNC-1
22-6ND 22-Lvps P 15 . z 34—
T g
3 A X1 X1 SYNC-2 = I X1
Slzans o R10 592, ms J e € 5 27 e 2 2w
[y r8 £ R1
J2-GND2 Tk 7 s | 51 3x1 NSTBY 35-101 3,32k
oJ2-cpz o T DIXL | FE@NSTRY 5o  Js-Tol
Saews | voe—{ H lolc £ o J5-nCS 2%
5 o 9 o 4 3
J2-GND4 22-TTL S g J5-SCLK o o 2 R2
5 5 EN2-2 suc £ 9% T OO s 4222k
32-6ND5 | P4 2 19 O i 35-MOST o 8 7
s e 22-L0s 0 2 1 et i g
32-GND6 4 3 Jx1 5-u150
e Lo B
& lorely e ok 5= 1 8 w
oo @— 35-6ND Iewe 332k
Tk So40lb 5T enan 2 B 5l juiiee gy
10 o 5-GND1 c
L® 10
VLDA,
2 Losow,
T
ve
3 s2 .
2 LDAOFF,
cs c6 15
N, Tour uF ToonF
R4
100
Voo
vwg_l 1 usan
24 . . o 25{vop . — RL
T 1 iC-HS3M i 3.32k
S — L5,
a [ [ ¢ &= 13l T ey
EY —— . Y 10uF a7uF 10F 100nF " T LDAJ23 ELvos 29 »:zm
R 3 .
Voo Ve
GND2 8, z
aﬁ% LDA
L 17 . R3
iC-HSe5 £ 3.32k
o
21-Lvps P S
3 Loks fd
RT output LDK2
L Driver Lokt
Tk
#6
jr 22 [ep
21T
3 Trigger
EN1-2 21 JEN
J1-LVDS_N 2 P2 1 2
5
D€
R14 J T 8 |scik
- T 9 Incs
11 fuIso miso | Ineut/
12 [most st | OuPut
35-5cLK
T 10 JNSTBY. NSTBY
25-Nes
5 1y
5-M150 & sl
9 i
25-MosT
7 " T
21-cope 1-6Kp3 —gor o7 wstey
> D-chos ¢ 3
E S1-u0a 35-010 -3 o
- Sli-ciod ¢ = a
14 5 2 _3s-102
S31-Nc3 Sareos | 25-GND1 3
15 10 10 J5-103 VDD
S31-Nce J1-awps | RS
16 o a7
L JUMPER SETTINGS 22-6ND 22-Lvps P
JP1 JP2 JP3 IJP4 o 9 CIoN
- =
5 [ e
> © 22-61p2. T 2
a— La— 22-vsp1 o ik o CI0FF
Bl B N 7 J2-6ND3 | vuu»—ilk: 9 X1 ]
5 20
B ©
2 R ED 22-CoDE 22-Ghpa 22-TTL 3 e
13 3 X B 20l vrewe ge—
-3 | ore | orr 22-NC2 32-6KDs FeC g 25
>3 DS o 22-LvDS_N @
-4 OFF ON Dgz—ncz :JZ—GNDG o i <
15 12 R11 8
s oon | on on | orr S 32-nca L e
16 R 2
o
2

Figure 5: Circuit diagram with iC-HS module

Caution! Make sure, no jumper is set on JP5 before applying the supply voltages.



Rev A9, Page 5/15

@-l-laus

iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION

wayas~oads~w Ay~ gxpzby-edp

.ﬁ TNadT oo -
E] 8 —
5 3 e e 21 sl
" EDESCI | 1P L
8-10N9 b G EIUREN BON-2F
EEI 107 | ol =
€3 dr SONT- 2L © EIN-27
e e EERT S[AWIIA dW31A RPN [ 8 Pl
vﬁ dW3L FOND- 20 ZON-27
X2y Lo T S
23 m NMWM. SUNE] b e RS w233 5 EONT-<p 3009-er
S — [
(o1 0] H T 2021 of L
Sdr & — & S -
yos s RN~ o IN =) KEN - o1 O ] R ., [Tosh Nmm
& AN T ST WNI-2r [1%% A Q5A-er
!
Log
aaa 213 = o aaa
ISSERIN I I 451 e
nols 1L e- alh CIN B | I SL
G i SOND- 1T PON- 1T
noTs saat| 2- AH-D! NI[1Z Paar? NTSOAT-IT e C EN-1r<
15v4 san| i- 3 3 ble
=T FOND-TT ZON- 1T
HJLINS 300W ] B Al , S el
sdr ——equn £ON9-T 3003- 17
s e 5O
ZON9-10 < i
-
| < ¢ TaSA-1r ©
20 [ o no [ no ] s- £] 6 1ON-Ti7 Z 9.
| = 9dr 1r-A QSA-IP
w o b 3| a0 JSOAT- 1T aNg- 1T
\*Nm aNafZtT |
110 | 450 | &~
ada
N[ NI 2z |
NN |- HIpsL
N 4 N 4 8- 1VOAT R
J00W-T11L 300W-SOAT H H AN B o g IS
bl Sdr 20 LdP 3 01— NI T == 4no) 1ONg
SINILLIS A3dunr T L < £ 2 13 P
b
|
T | L q0A[52 , , , oar % b
Va2 aon
1z
82
WLH-D, o
Y 440v071 anNg
2
VaA s o
NOVQ1 B

th iC-HV module

ircuit diagram wi

C

Figure 6



iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION

@-l-lous

Rev A9, Page 6/15

JUMPER DESCRIPTION
JP1 JP2 | Function Comments
JP3 JP4
| 0 INpE LVDS control via J1/J2
00 00 |TTL
00 00 |LVDS off
00 00 |TTL off/on
00 00 |LVDS/TTL on/off
00 00 |LvVDS
JOOeaN TTL TTL control via J1/J2
00 00 |LVDS off
00 00 | TTL off/fon
00 00 |LVDS/TTL on/off
00 00 |LVDS
00 00 |TTL
00 00 |LVDS off
00 TTL off/on TTL control ON (static)
00 | LVDS/TTL on/off
00 00 |LvVDS
00 00 |TTL
00 00 |LVDS off
00 | TTL off/on TTL control OFF (static)
00 LVDS/TTL on/off
00 00 |LvVDS
00 00 |TTL
00 00 |LVDS off
00 00 | TTL off/fon
ESIBAN | VDS/TTL on/off | LVDS control ON (static)
00 00 |LVDS
00 00 |TTL
OOEEN VDS off LVDS control OFF (static)
00 00 | TTL off/on
00 00 |LVDS/TTL on/off
JP5 TTL SLOW/FAST, Transient control
LVDS SLOW/FAST
JP6 V_J Connects/disconnects VDD to/from J1
JP7 V_J2 Connects/disconnects VDD to/from J2
JP8 NSTBY Connects/disconnects NSTBY to/from J5




iC-HG EVAL HG2D

EVALUATION BOARD DESCRIPTION

@-l-laus

Rev A9, Page 7/15

SPI CONNECTOR PINOUT

J1: SPI Connector
10-pin Connector - male

PIN Name
SCLK
GND
NSTBY

MOSI
NCS
MISO
0 GND

= OO0 NO O WN -

Function
SPI Clock
Ground

Standby (low active, requires JP8 to be set

SPI Data Input
Chip Selct (low active)
SPI Data Output

Ground

Table 1: SPI Connector.

ASSEMBLY PART LIST

Device Value (typical) Comment

C1,C5 10 uF Blocking capacitor

Cc2 47 uF Blocking capacitor

C3,C6 1uF Blocking capacitor

C4,C7 100nF Blocking capacitor

D1 LED Error indicator

EN1, EN2 Measurement terminals

J1, J2 Pulse/Oscillator module interface
JP1, P2, JP3, JP4 See jumper configuration
JP5, JP6, JP7 See jumper configuration
R1, R3 3.32kQ TTL/LVDS fast/slow settings
R2 4.22kQ TTL/LVDS fast/slow settings
R4 100Q Discharge resistor

R5 47 Q Current limitation

R6, R7, R9, R10 1kQ Pull Up/Down resistors

R8, R11 1.5kQ2 Pull Up/Down resistors

R12 301Q Current limitation

S1 switch Cl on/off

S2 switch LDA on/off




iC-HG EVAL HG2D

EVALUATION BOARD DESCRIPTION @HOUS

Rev A9, Page 8/15

HEAT SINK ASSEMBLY KIT (OPTIONAL)

Figure 7: Heat Sink Kit overview

Item | Quantity Material Description
1 2 steel M4x16, hex socket screw
2 2 steel D ~ 8.8 mm, washer for M4x16 screw
3 2 steel M3x6, Phillips screw
4 4 steel M2x8, hex socket screw
5 4 steel D ~ 5mm, washer for M2x8 screw
6 1 steel M2x6, slot screw
7 1 steel D ~ 5mm, washer for M2x6 screw
8 1 polyamide M2x6, slot screw
9 1 polyamide M2x8, slot screw
10 1 aluminium oxide | disc 28.3mm x 12mm x 1.5mm
1 1 aluminium HG1M heat sink 52 mm x 12mm x 4 mm
12 1 aluminium HG2DZ heat sink 54.8 mm x 38 mm x 21 mm
13 1 metal oxide thermal grease 10 ml

Table 2: Heat Sink Kit material



iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION

@-l-lous

Figure 8: Pre-assembled Heat Sink Kit, top view

Figure 9: Pre-assembled Heat Sink Kit, side view

Figure 10: Pre-assembled Heat Sink Kit, bottom view

Rev A9, Page 9/15



iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION @'HOUS

Rev A9, Page 10/15

Figure 11: HG2D with assembled heat sink

Figure 12: HG2D with heat sink and HG2M



iC-HG EVAL HG2D

EVALUATION BOARD DESCRIPTION

@-l-lous

Figure 13: HG2D assembled to an optical bench

Figure 14: Top view

Rev A9, Page 11/15



iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION @'HOUS

Rev A9, Page 12/15

Figure 15: Rear view

Use of the thermal grease

—_

. Apply thermal grease extensively but thinly

Apply thermal grease to top side of the HG1M heat sink (11) but only where the ceramic disc is supposed to
be attached (10)

Apply thermal grease to the metal area of the bottom side of the HG2M module and attach ceramic disc (10)
Apply thermal grease to the whole bottom side of the HG1M heat sink (11)

Pre-assemble the whole heat sink kit

Tighten all screws

Unfasten the polyamide screw (8 resp. 9) and apply thermal grease to the metal area on the HG2M module,
where the C-mount laser diode is supposed to be attached

Mount the C-mount laser diode, carefully tightening the screw (choose the appropriate screw length)
9. Solder the metal band to the cathode area on the HG2M module

Nooabkow N

®

The HG2DZ heat sink features numerous screw threads on the back side for mounting a larger standard heat sink.
To that end the complete back side needs to be covered with thermal grease.



iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION

@-l-lous

Rev A9, Page 13/15

L_:____I,_J
|

2 x @ 1600 THRU ALL
M2 - 6H THRU ALL

2 x @ 3.400 THRU ALL
L 1@ 1T 2400

T

12

8.030

20.320

Li

52

drc_hglm_heatsink, 2:1

standard tolerances ISO 2768-mK

aluminum, black anodizised

Figure 16: Dimensions of the HG1M heat sink



iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION

@-l-lous

2 x @ 3300 U 11500

Rev A9, Page 14/15

2 x @ 2500 U 8500

L x P 1600 U 6
_ M3 -6H T 6
M - 6H ¥ 8 M2 - 6H T 6
6 x @ 2500 ¥ 8500 =
M3 -6H T 6 o 4
N o
T T ;I I; y“ \ \ E
Lo, b 3 =
- St
7 $ = -
~ 4 - BN
~ o
& & = —
TOTHE T )
I =
|
# == TEEZE]
sy -
18.500 12
26
32
38
2x @5V 9
M6 - 6H T 6

(both front sides)

1.600

N
16
21

N

dra_hg2dz_heatsink_pack_1, 1:1
standard tolerances ISO 2768-mK
aluminum, black anodizised

Figure 17: Dimensions of the HG2DZ heat sink



iC-HG EVAL HG2D
EVALUATION BOARD DESCRIPTION @'HOUS

Rev A9, Page 15/15

REVISION HISTORY

Rev Notes Pages affected

A1l Initial version

A2 Screen print for jumpers updated 1

A3 V5D Decoupler and Heat Sink Assembly Kit added 4-11

A4 Typo corrected 1

A5 Board update for iC-HV modules, V5D Decoupler removed, jumpers JP6, | 1-5
JP7 added

A6 Voltage ranges for VDD and VLDA removed, reference to data sheets added | 1

A7 Board update for iC-HS modules, jumper JP8 and connector J5 added 1-6

A8 Terminal Description corrected: CI11/CI2 1

A9 Diagrams with HN1M and HS3M added 4
Description of JP8 added 6

iC-Haus expressly reserves the right to change its products, specifications and related supplements (together the Documents). A Datasheet Update Notification
(DUN) gives details as to any amendments and additions made to the relevant Documents on our internet website www.ichaus.com/DUN and is automatically
generated and shall be sent to registered users by email.

Copying — even as an excerpt — is only permitted with iC-Haus’ approval in writing and precise reference to source.

The data and predicted functionality is intended solely for the purpose of product description and shall represent the usual quality and behaviour of the product.
In case the Documents contain obvious mistakes e.g. in writing or calculation, iC-Haus reserves the right to correct the Documents and no liability arises insofar
that the Documents were from a third party view obviously not reliable. There shall be no claims based on defects as to quality and behaviour in cases of
insignificant deviations from the Documents or in case of only minor impairment of usability.

No representations or warranties, either expressed or implied, of merchantability, fitness for a particular purpose or of any other nature are made hereunder with
respect to information/specification resp. Documents or the products to which information refers and no guarantee with respect to compliance to the intended
use is given. In particular, this also applies to the stated possible applications or areas of applications of the product.

iC-Haus products are not designed for and must not be used in connection with any applications where the failure of such products would reasonably be
expected to result in significant personal injury or death (Safety-Critical Applications) without iC-Haus’ specific written consent. Safety-Critical Applications
include, without limitation, life support devices and systems. iC-Haus products are not designed nor intended for use in military or aerospace applications or
environments or in automotive applications unless specifically designated for such use by iC-Haus.

iC-Haus conveys no patent, copyright, mask work right or other trade mark right to this product. iC-Haus assumes no liability for any patent and/or other trade
mark rights of a third party resulting from processing or handling of the product and/or any other use of the product.

Software and its documentation is provided by iC-Haus GmbH or contributors "AS IS" and is subject to the ZVEI General Conditions for the Supply of Products
and Services with iC-Haus amendments and the ZVEI Software clause with iC-Haus amendments (www.ichaus.com/EULA).


http://www.ichaus.com/DUN
http://www.ichaus.com/EULA

	ORDERING INFORMATION
	BOARD HG2D 
	RELATED DOCUMENTS
	SCHEMATIC
	JUMPER DESCRIPTION
	SPI CONNECTOR PINOUT
	ASSEMBLY PART LIST
	HEAT SINK ASSEMBLY KIT (OPTIONAL)
	Use of the thermal grease

	REVISION HISTORY

